
Greek Declension 
 

General Notes (for nouns & adjectives): 
· Blank V/A = N. 
· �����������	��
 �  
· For 1st and 2nd declension, in Genitive and 
  Dative use circumflex if accent lands on ultima. 
 

Basic case endings 
 vowel 

declension 
consonant 
declension 

gender n m f m/f n 
declension 2nd  2nd  1st  3rd  3rd  
stem-vowel 
  
  �  �  �  

N � � � ������� �
G � � � � � � � � �
D � � � � �
A � � � �����! "

singular 

V � # $ % % or =N $ %
N/V & ' ' #)( &
G * + * + * + *,+ *-+
D .0/ .0/ .0/ 132 142

plural 

A 5 687:9 687:9 ;3<�=�>8<�?�@ ;
Notes: 
* An underlined ending replaces the stem vowel. 
* In the 2nd-declension genitive singular, the omicrons 

contract to ACB�D
* When the stem vowel is omicron, it changes (via 

ablaut) to epsilon in the vocative. 
* E  changes to F  if immediately after a consonant. 
* stem-vowel+ GIH  : G drops out and the stem-vowel 

experiences compensatory lengthening. 
* 3rd declension m/f: Nominative adds  H  or lengthens the 

stem vowel.  Vocative uses the pure stem or copies the 
nominative. 

 

Nouns 
 

1st Declension 
f singular p m sing pl 
 JLK0M     JLK0M   
N N N O PRQ N ςα SUT VRW
G ςα SXT SUT Y,Z G [U\ [U\ ],^
D _ ` ` aRb0c D d ` aRb0c
A afe a�e ghe ςα A να ghe ςα
V a a g

 

V α afi�g
 

2nd Declension 
m s pl  n s pl 
N j�c jfb  NAV jUe a
G jUk l-e  G jUk l,e
D m nfo0p  D m n�o0p
A nUq nUr!p
V s nfo

Contracting 3rd Declensions 
y-stem  w-stem  tvu -stem 
f s pl  m s pl  n s pl 
N w0x   y w0x  N z|{!}   ~��)�  NAV � � �
G ~���� ~)�-�  G �)��� �)�,�  G �U�!� �,�
D �L� �|�4�  D ��� �|���4�  D �L� �|�4�
A ��� ���0�  A � α ���)���  
V �  V �|�
y becomes �
before vowels & 
in dative, else �	   
Genitive accents 
antepenult.

 w drops out
before vowels, 
else becomes ¡�¢£¥¤	¦ §

 in ¨�©!ª¬«I­�®  ¯�°!±
in class.

²
drops out and 

contraction occurs. 
- ³µ´ becomes  
- ¶X´ via ablaut.

 
Adjectives 
 

2nd/1st Declension  
 singular plural 
 m f(1st ·  n  m f n 
 ¸�¹0º  
N »�¼ α ½ »U¾ »f¹ ¿R¹ ¿
G »UÀ ςα ½ ¼ »UÀ Á-¾ Á,¾ Á,¾
D Â Ã Ä Â »f¹0¼ ¿R¹0¼ » ¹�¼
A »U¾ να ½ ¾  »UÀ!¼ ςα  
V ¸ α ½    
 ÅvÆ

-stem (3rd Declension) 
 singular plural 
 m/f n m/f n 
N Ç È É È ÊÌË È Í
G ÎUÏ Ð ÎUÏ Ð Ñ-Ò Ñ,Ò
D ÓÌÔ Ó�Ô Õ×Ö4Ø Õ|Ö4Ø
A Í ÓÌÔ)Ð
V Õ�Ð

Accent is 
either 
recessive or 
as shown. 
 
Examples: ÙfÚ8ÛUÜXÝXÞ
ßáà�âXã�äXå  

 

3rd/1st (A & P Participles, æ4ç4è ) 
 singular plural 
 m f (1st é  n m f n 
  ê�ë0ì       
N/V −/ í   î î ï − ê í î ë î
G ð í ςα ï í ï í ð í ñ,ò ó-ò ñ-ò
D ë ô õ õ ë ö4ë î ë í ö4ë
A î î ò î ò ï ò  î í ςα  

 
3rd/1st w-stem 
 singular plural 
 m f n m f n 
N ÷ í   ê�ø î ÷ êÌø í êÌø î ë ù î
G ù)ð í ú�û�ü3ý þ)ÿ�ý þ���� ú�� � � þ����
D ú	� ú�û�
 ú	� þ
��� úLû ü��0ý þ����
A � � ú	�|ü��  ú��)ý úLû ü4ý  
V � ú	�|ü    

Accent 
is either 
recessive 
or as 
shown. 



 


